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(D) AL usil Gu™i 6 2se @uiaidl 9. uddl 2se a) Ul A oflg wse b) Gledl [24]
guial-ll 9. (Write two words as the answer to each question. First word | d |
a) is to be written horizontally and second b) vertically.) Marks : 20 NEED z
4L
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(I) ARl ot wis s, (Choose the correct answer.) Marks : 10
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(1) <issi i, Column A<l A column B 244 column CHiall 2l waier leld avil. eg. (1) -a - f
(@ ARl et «dl.) (Match the columns with the right answers from column B and column

C corresponding to column A.) Marks : 10
Column A Column B Column C
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d oomudl. A g ¢la dlosiel 2udl. (Write true or false. Give reason if
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(V) 25 % 6 disydl walel »uul. (Answer in one or two sentences.) Marks : 15
(1) A wa weaRdl dovne 4 s dlog Ul d w2 yod dRRaslal duld »idw wee il A g

siovieifl o slael A 9 d Quil.
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wuRd 9 Az HA ©7?

(VD) AL gwidd géudi vl a-dl uied usondl. (Write the following examples in brief and explain
their parmarth.) Marks : 25
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(VIDRet %l uAAls deed el 2UU-IR uRMsUloeadl “8UL i GusiRld ded 53 w0 2aenzaudl yalgla
sdx1. (Let us culminate this swadhyay journey by experiencing the glory and grace of Param
Krupalu Dev who bestowed the jewel-like Patrank 166 upon us.) Marks : 10

(1) 2uued uwsis qeedl ¥ st 2wl 4 wdgwagzadl sul . uals a3 s 2a wdel yelsimdl
Al Aud B sR0L S sdAHl el 97 — 1 mark
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(6) ¥ il dlsdl Ul YD, wdl ad dd v An..... — 2 marks
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